

6.3 Homogeneous Differential Equations: p. 423 #69-80 all, 67, 68

$$\begin{aligned} \textcircled{69) } f(x,y) &= \frac{x^2 y^2}{\sqrt{x^2+y^2}} & f(tx,ty) &= \frac{(tx)^2 (ty)^2}{\sqrt{(tx)^2+(ty)^2}} = \frac{t^4(x^2 y^2)}{\sqrt{t^2(x^2+y^2)}} \\ & & &= \frac{t^4(x^2 y^2)}{t\sqrt{x^2+y^2}} = t^3 \left(\frac{x^2 y^2}{\sqrt{x^2+y^2}} \right) \end{aligned}$$

Homogeneous of degree 3

$$\textcircled{70) } f(x,y) = \frac{xy}{\sqrt{x^2+y^2}} \quad f(tx,ty) = \frac{(tx)(ty)}{\sqrt{(tx)^2+(ty)^2}} = \frac{t^2 xy}{\sqrt{t^2(x^2+y^2)}}$$

Homogeneous of degree 1.

$$= \frac{t^2}{t} \left[\frac{xy}{\sqrt{x^2+y^2}} \right] = t \left[\frac{xy}{\sqrt{x^2+y^2}} \right]$$

$$\begin{aligned} \textcircled{71) } f(x,y) &= 2 \ln xy & f(tx,ty) &= 2 \ln (tx)(ty) = 2 \ln (t^2 xy) \\ & & &= 2 \ln (t^2) + 2 \ln (xy) \\ & & &\text{Not homogeneous} \end{aligned}$$

$$\begin{aligned} \textcircled{72) } f(x,y) &= \tan(x+ty) \\ f(tx,ty) &= \tan(tx+ty) = \tan[t(x+ty)] \end{aligned}$$

Not homogeneous.

$$\begin{aligned} \textcircled{73) } f(x,y) &= 2 \ln \frac{x}{y} \\ f(tx,ty) &= 2 \ln \frac{tx}{ty} = 1 \left[2 \ln \frac{x}{y} \right] \end{aligned}$$

homogeneous degree 0

$$= 1 t^0 \left[2 \ln \frac{x}{y} \right]$$

$$\begin{aligned} \textcircled{74) } f(x,y) &= \tan \frac{y}{x} \\ f(tx,ty) &= \tan \frac{ty}{tx} = \tan \frac{y}{x} \end{aligned}$$

homogeneous of degree 0.

75) Solve homogeneous differential equation $(x+y)dx - 2xydy = 0$

$$y' = \frac{x+y}{2x} \quad \frac{dy}{dx} = \frac{x+y}{2x} \cdot \frac{1}{x} = \frac{1 + \frac{y}{x}}{2} = \frac{1+v}{2}$$

Degree: $n=1$

$$v = \frac{y}{x} \quad xv = y \quad \begin{cases} y = xv \\ \frac{dy}{dx} = v + x\left(\frac{dv}{dx}\right) \end{cases}$$

$$v + x\left(\frac{dv}{dx}\right) = \frac{1+v}{2}$$

$$x\frac{dv}{dx} = \frac{1+v}{2} - v$$

$$x\frac{dv}{dx} = \frac{1+v}{2} - \frac{2v}{2} = \frac{1-v}{2}$$

$$x\frac{dv}{dx} = \frac{1-v}{2}$$

$$\int \frac{dv}{1-v} = \int \frac{1}{2x} dx \rightarrow \frac{1}{2} \int \frac{1}{x} dx$$

$$u = 1-v \quad \frac{du}{dv} = -1 \quad \int \frac{-du}{u} = \frac{1}{2} \ln|x| + C$$

$$dv = \frac{du}{-1} \quad \ln|1-v|^{-1} = \frac{1}{2} \ln|x| + C$$

$$e^{\ln|1-v|^{-1}} = e^{\ln|x|^{1/2} + C}$$

$$|1-v|^{-1} = x^{1/2} \cdot e^C$$

$$|1-v|^{-1} = Cx^{1/2}$$

$$\frac{1}{1-v} = Cx^{1/2}$$

$$\frac{1}{1 - \frac{y}{x}} = Cx^{1/2}$$

$$\left(\frac{1}{1 - \frac{y}{x}}\right)^2 = (Cx^{1/2})^2$$

$$\frac{1}{\left(1 - \frac{y}{x}\right)^2} = Cx$$

$$\frac{1}{\left(\frac{x-y}{x}\right)^2} = Cx$$

$$\frac{x^2}{(x-y)^2} = Cx$$

$$\frac{x^2}{x} = C(x-y)^2$$

$$x = C(x-y)^2$$

$$76) y' = \frac{(x^3 + y^3)}{xy^2}$$

homogeneous: degree $n=3$ $(x^3 + y^3)dx - xy^2 dy = 0$

$$\frac{dy}{dx} = \frac{(x^3 + y^3)}{xy^2} \cdot \frac{1}{x^3} = \frac{1 + \frac{y^3}{x^3}}{\frac{y^2}{x^2}} = \frac{1 + \left(\frac{y}{x}\right)^3}{\left(\frac{y}{x}\right)^2}$$

$$V = \frac{y}{x}$$

$$xV = y$$

$$y = xV$$

$$\frac{dy}{dx} = 1 + x \frac{dV}{dx}$$

$$V + x \frac{dV}{dx} = \frac{1 + V^3}{V^2}$$

$$x \frac{dV}{dx} = \frac{1 + V^3}{V^2} - V$$

$$x \frac{dV}{dx} = \frac{1 + V^3 - V^3}{V^2}$$

$$x \frac{dV}{dx} = \frac{1}{V^2}$$

$$\int V^2 dV = \int \frac{1}{x} dx$$

$$\int V^2 dV = \int \frac{1}{x} dx$$

$$\frac{V^3}{3} = \ln|x| + C$$

$$V^3 = 3 \ln|x| + C$$

$$\frac{y^3}{x^3} = \ln|x| + C$$

$$V^3 = 3 \ln|x| + C$$

$$\left(\frac{y}{x}\right)^3 = 3 \ln|x| + C$$

$$y^3 = 3x^3 \ln|x| + Cx^3$$

$$77) y' = \frac{x-y}{x+y}$$

homogeneous: degree $n=1$

$$(x-y)dx - (x+y)dy = 0$$

$$\frac{dy}{dx} = \frac{x-y}{x+y} \cdot \frac{1}{x} = \frac{1 - \frac{y}{x}}{1 + \frac{y}{x}}$$

$$\frac{dy}{dx} = 1 + x \frac{dV}{dx}$$

$$V + x \frac{dV}{dx} = \frac{1-V}{1+V}$$

$$x \frac{dV}{dx} = \frac{1-V}{1+V} - V$$

$$x \frac{dV}{dx} = \frac{1-V - V(1+V)}{1+V}$$

$$x \frac{dV}{dx} = \frac{1-V-V-V^2}{1+V}$$

$$= \frac{1-2V-V^2}{1+V}$$

$$x \frac{dV}{dx} = \frac{-V^2 - 2V + 1}{1+V}$$

$$\int \frac{1+V}{-V^2 - 2V + 1} dV = \int \frac{1}{x} dx$$

$$\int \frac{1+V}{-V^2 - 2V + 1} dV = \int \frac{1}{x} dx$$

$$u = -V^2 - 2V + 1$$

$$\frac{du}{dV} = -2V - 2$$

$$\frac{du}{dV} = -2(V+1)$$

$$dV = \frac{du}{-2(V+1)}$$

$$\int \frac{1+V}{u} \cdot \frac{du}{-2(1+V)}$$

$$-\frac{1}{2} \ln|-V^2 - 2V + 1| = \ln|x| + C$$

$$\ln|-V^2 - 2V + 1|^{-1/2} = \ln|x| + C$$

$$e^{(1-V^2-2V+1)^{-1/2}} = (C|x|)^{-2}$$

$$|-V^2 - 2V + 1| = Cx^{-2-2}$$

$$|-(\frac{y}{x})^2 - 2(\frac{y}{x}) + 1| = \frac{C}{x^2}$$

$$|-y^2 - 2xy - x^2| = C$$

78) $y' = \frac{x^2 + y^2}{2xy}$ homogeneous degree: $n=2$ $(x^2 + y^2)dx - 2xydy = 0$

$$\frac{dy}{dx} = \frac{x^2 + y^2}{2xy} \cdot \frac{1}{x^2} \cdot \frac{1}{\frac{1}{x^2}}$$

$$\frac{dy}{dx} = \frac{1 + \frac{y^2}{x^2}}{2\left(\frac{y}{x}\right)}$$

$$\frac{dy}{dx} = \frac{dv}{dx}x + v(1)$$

$$\frac{y}{x} = v \quad y = vx$$

$$x \frac{dv}{dx} + v = \frac{1 + v^2}{2v}$$

$$x \frac{dv}{dx} = \frac{1 + v^2 - 2v^2}{2v}$$

$$\frac{2v dv}{1 - v^2} = \frac{1 dx}{x}$$

$$x \frac{dv}{dx} = \frac{1 + v^2}{2v} - v$$

$$x \frac{dv}{dx} = \frac{1 - v^2}{2v}$$

$$\int \frac{2v}{1 - v^2} dv = \int \frac{1}{x} dx$$

$$u = 1 - v^2$$

$$\frac{du}{dv} = -2v$$

$$dv = \frac{du}{-2v}$$

$$-\ln|1 - v^2| = \ln|x| + C$$

$$e^{-\ln|1 - v^2|} = e^{\ln|x| + C}$$

$$(1 - v^2)^{-1} = C|x|$$

$$|1 - v^2|^{-1} = C|x|$$

$$\int \frac{2v}{u} \cdot \frac{du}{-2v}$$

$$1 - v^2 = \frac{C}{x}$$

$$1 - \left(\frac{y}{x}\right)^2 = \frac{C}{x}$$

$$\left[1 - \frac{y^2}{x^2} = \frac{C}{x}\right] x^2$$

$$\boxed{x^2 - y^2 = Cx}$$

$$xydx + (y^2 - x^2)dy = 0$$

$$79) y' = \frac{xy}{x^2 - y^2}$$

$$\frac{dy}{dx} = \frac{xy}{x^2 - y^2} \cdot \frac{1}{x^2} = \frac{\frac{y}{x}}{1 - \left(\frac{y}{x}\right)^2}$$

$$\frac{y}{x} = v$$

$$vx = y$$

$$\frac{dy}{dx} = \frac{dv}{dx}x + v(1)$$

$$\frac{dv}{dx}x + v = \frac{v}{1 - v^2}$$

$$\frac{dv}{dx}x = \frac{v}{1 - v^2} - v$$

$$\frac{dv}{dx}x = \frac{v - v(1 - v^2)}{1 - v^2}$$

$$\frac{dv}{dx}x = \frac{v - v + v^3}{1 - v^2}$$

$$\frac{dv}{dx}x = \frac{v^3}{1 - v^2}$$

$$\frac{1 - v^2}{v^3} dv = \frac{1}{x} dx$$

$$\int \frac{1 - v^2}{v^3} dv = \int \frac{1}{x} dx$$

$$\int \frac{1}{v^3} - \frac{v^2}{v^3} dv = \int \frac{1}{x} dx$$

$$\int v^{-3} - \frac{1}{v} dv = \int \frac{1}{x} dx$$

$$\frac{v^{-2}}{-2} - \ln|v| = \ln|x| + c$$

$$-\frac{1}{2v^2} = \ln|x| + \ln|v| + \ln|c|$$

$$-\frac{1}{2v^2} = \ln|xvc|$$

$$-\frac{1}{2\left(\frac{y}{x}\right)^2} = \ln\left|x\left(\frac{y}{x}\right)c\right|$$

$$-\frac{1}{2\left(\frac{y}{x}\right)^2} = \ln|yc|$$

$$e^{-\frac{x^2}{2y^2}} = \ln|yc|$$

$$e^{-\frac{x^2}{2y^2}} = y \cdot c$$

$$y \cdot c = e^{-\frac{x^2}{2y^2}}$$

$$y = Ce^{-\frac{x^2}{2y^2}}$$

$$80) \quad y' = \frac{2x+3y}{x} \quad \frac{dy}{dx} = \frac{2x+3y}{x} \cdot \frac{1}{x} = \frac{2+3(\frac{y}{x})}{1}$$

$(2x+3y)dx - xdy = 0$
homogeneous degree: $n=1$

$$v = \frac{y}{x} \quad \left| \begin{array}{l} \frac{dv}{dx}x + v = 2 + 3v \\ \frac{dv}{dx}x = 2 + 2v \\ \frac{dv}{dx}x = 2(1+v) \end{array} \right. \quad \left| \begin{array}{l} \int \frac{dv}{1+v} = \int \frac{2}{x} dx \\ \ln|1+v| = 2\ln|x| + C \end{array} \right.$$

$$e^{\int \frac{1}{1+v} dv} = e^{\int \frac{2}{x} dx} + C$$

$$(1+v) = x^2 \cdot C$$

$$(1+v) = Cx^2$$

$$\left[1 + \frac{y}{x} = Cx^2 \right] x$$

$$x + y = Cx^3$$

$$\boxed{y = Cx^3 - x}$$

6.3 Determine if function is homogeneous: If $f(tx, ty) = t^n f(x, y)$

67) $f(x, y) = x^3 - 4xy^2 + y^3$

$$f(tx, ty) = (tx)^3 - 4(tx)(ty)^2 + (ty)^3$$
$$= x^3 t^3 - 4xy^2 t^3 + y^3 t^3$$

$$= t^3(x^3 - 4xy^2 + y^3) \quad \text{Homogeneous of degree 3.}$$

68) $f(x, y) = x^3 + 3x^2y^2 - 2y^2$

$$f(tx, ty) = (tx)^3 + 3(tx)^2(ty)^2 - 2(ty)^2$$

$$= \underline{t^3}x^3 + 3\underline{t^4}x^2y^2 - 2\underline{t^2}y^2 \quad \text{Not homogeneous}$$

